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BASED ON NCERT PATTERN 

Divide 45 by 6. 

ReadRead the multiplication table of 6 till 

the product is 42. 

When 6 is multiplied with 7, we get 42 (6 x 

7  = 42). 

We subtract the product (42) from the 

dividend (45). 

(45 x 42= 3) The remainder is 3. 

Verification :  

Dividend – Quotient x Divisor +Remainder 

In the above sum, 

Quotient = 7, Divisor = 6,Remainder = 3 



                    = 7 x 6 + 3 

                   = 42 + 3 

                   = 45 ( Dividend) 

So, the division is correct. 



 



      

         

          


